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500 GeV ,1 TeV
500 fb-1




(tb)

Ecm=500 GeV

KKE—F| IEREfE | HPEfE | fiEiR A
1stKK | 6.524 | 297.5 | 257.1
2nd KK | 0.065 | 2.975 | 2.571

Ecm=1TeV

1st KK | 7.791 | 355.4 | 307.1
2nd KK | 0.517 | 23.60 | 20.40
3rd KK | 0.085 | 3.864 | 3.340




INVD TSR

NI SR Ecm=500 GeV Ecm=1TeV

evW 4462 10320

WW -> lvqq 660 280.3
ZZ -> liqg+vvqq 163 32.79
tt 531 29.43
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Ecm KKmode |EEE 15 &5 = g

500 GeV | 1st KK 7.0 0.36 0.40
1st KK 13.0 0.53 0.67
1TeV 2nd KK - 2.4 2.7
3rd KK - 7.0 8.4
Ecm=1TeV N —

N—)TW
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INVD T SOV RDRE

10 GeV < 1st KK <200 GeV

1st KK: No cut
160 GeV < 2nd KK <250 GeV




INVD T SOV RDRE

LI R)LF—HYE » 10 GeV < 1st <100 GeV
» 10 GeV <2nd <500 GeV
» 10 GeV <3rd <700 GeV

> 10 GeV < 4th <540 GeV
2ietDE=/VH > 60 GeV < W mass < 100 GeV

2jetDITR)LF—Hvk  »80GeV <Ist <290 GeV
> 180 GeV < 2nd < 560 GeV

» 220 GeV <3rd <470 GeV
» 280 GeV < 4th <440 GeV

0 F)LiEELER » 90 GeV < 1st <110 GeV
» 280 GeV <2nd <320 GeV

» 480 GeV < 3rd <520 GeV
» 670 GeV <4th <730 GeV



ve (eV)

vu (eV)

vt (eV)

0
0.009
0.059

0.041
0.05
0

0.20
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